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21v9%R "21 states; whether he is a X2 or whether he is, etc.

OVERVIEW

The Xn3 cites a “7wn wherein there is a np»n whether a n">w can divide his
estate through saying alone (the view of the 2’121), or does it require a 1P (the
view of X"). In the X9°0 of this *m1wn there is a npY7onn whether the rule of 27
M7 1011 121N 19w applies only on Naw (the view of 8"),* or on the weekdays
as well (the view of yw1 > '1). Our MdoIN discusses the X073 whether it is YR "
or IY°7X "M in the Xw of the mawn (which is cited here).

— YVINY 229) MTYIHN 224 MP79 NOYDAT D) 9TYIN 297 DN 13929 N
The n'1 says that the 827 is 2198 ' (and not T1¥°9% "), for in the X29% of this

mwn there is a dispute between =1¥°»R '3 and "9, where -
— 5519 YYIN? 291 HINA XY YAN 1999597 19927 NAYA N ITPHN %29

212°®X 'Y maintains that on naw the words of the »'">w are substantiated (and
no 1Ip is required) however not in the weekdays (where a 7°3p is required); but

5'"9, etc. maintains that we always say 72> 1127.This is the np12n7 in the X9°0 -
—Symyraay N9 HAWA A DINA 13 2059 NWIA YaN

However in the Xws9, the 2°no1 and X" argue both in the weekdays and on
naw. We know this is true since the 71wn did not mix together these two npronn.

mooIN brings an additional proof that the n12mn in the X" is even on naw:
— ATYHN 229 N2 NINT NN NIV RNYT DY 2 DY 1IINND ITYIN 229D 1929 959991 TV

And in addition since the 3129 challenged X' with the story of the mother of %12
5217 (this proves that X7 X"1 is discussing naw as well), for otherwise what

! In our X773 text it reads YR, [ATYIR 7 is usually ascribed to ¥7w 12 X" a student of ¥"1, while 71¥°2X °27 (who is
DIPT 12 R") was the »21 of ¥ (and a Xnn%5 12 of (7°2117 12) YW »20. (See ‘Thinking it over” # 2.)]
% The mwn is from X,11p 2"2.
> On 2,1p.
* One is not permitted to make a 7°1p on naw, therefore the 0°m>n instituted that on N2w we assume that »"2w *727
17 0°71011 021033 in order WNYT AVN XPW; however on the weekdays we insist that the n">w make a 1Ip.
3 X" of the X5°0 maintains that the n">w n»X is effective on naw. If we are to assume that X" of the Xw™ is the
same as the X" of the X2°0 (and therefore the Xw™ is only discussing 2171, but not naw (since X" [of the X2°0] agrees
that nawa the n">w nmR is effective), why then is there two np12nn (one between 2°3m X" [in the Xw1], and
another between "1 X"3 [in the X9°0]), when there is only one np¥orn. However if we assume that Xu»7 X"
maintains that »">w n»X is never effective even on naw, then we understand that there are two np>n» and that "
Yo of the Xw1 is different from 713> ' of the X950,
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refutation is there from that story; perhaps the mother said °na> °n:°2> jn°n on
naw where X' agrees that »n">w n"nx is effective.’

mooIn offers an additional proof that “1¥%R ' of the Xw™ is referring to naw also:
— atPHN 929 59375 WINY XYY NAYWA 1959N) $913 299UN oNMp "onn IINPT NI

And furthermore, ©1> " ruled there that one is 719 from a »'">w (for his
transfers) and even if it is naw, but not because we are concerned for the view of

STY9R ', but rather Y7 70N X5W of the n">w.” This concludes the X3 -
— 0519999 159297 NAYA NI NI RN OND AMPIN 339N IN)

And if "% ' was referring to 21¥"X '3 (when he said, X" >127% w77 &77), how can

that be, for =3¥">X '2 admits that on naw the »">w nnR is effective so why would
we need to make a Pip! Obviously, "% " was referring to 712X " (who maintains that even on
naw the n">w N°»X is ineffective), but not to ATY*OR .

moYIN anticipates a difficulty (with the proof from "% '):
— DNAVA XD 03957 19927 N2 MYION 2991 “onn NP NN 2297 2) DY 9N

And even though »''1 stated there (the reverse of the miwn) that according to

X'"7 on the weekdays his words are effective, but not on naw (this would seemingly
invalidate the previously mentioned proof)'? —

mdoIN rejects this refutation:
— PPIINNIN NIN IINN 29N INP NY 0NN

There "> " was not referencing »'' (who maintains according to X"9 that nawa

the 772X is ineffective), but rather "% 1 was referencing our 73w» (which states
that according to X" the n"ow nK is effective on naw, therefore "% " could not be discussing "
q1v°5R of the X950, but rather 1¥9X " of the Xw».

mooIn proves that [even] according to n"7 we need to distinguish between X"9 of the Xw>7 and
X" of the xo°0:

® See “Thinking it over’ # 1.
Ta0p.
¥ One may think the reason % "1 requires a P3p from a »"5w (even on Naw) because he follows the view of X" that
n"ow naR is not effective, therefore "% ' clarifies that the reason for the 1°Ip is MY7 90N KW,
 When the n"5 sees that a 1°17 was made, he is assured that his wishes will be carried out.
10" All this proves that in the X7 it is ¥R "7 (who maintains »"2w n7°»X is never effective) and the X9°0 it is "
q13°2% (who maintains that n">w n7°nX is effective only on naw).
19 p.
2 We can assume that X" of the Xw™ and the X5°0 are the same and maintain (according to n"7) that n"5>w NN is
not effective on naw, therefore *12 1 needed to say that nawa 12°5% PR is not because we are concerned for the ruling
of X"7 (that n">w n»R is ineffective on Naw), but rather because NYT 770VN RAW.
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— 599%3 DINAT YNRWN N3N 791 MTYIN 399 TINI 397 NI MNINT TN
And furthermore the X723 concludes here, that »''1 is according to X''9, and the
phrase "man 9997' (which is being discussed here) indicates that we are discuss a

weekday -
— £ 17927 YIN2 MTYIHN 22997 NN 1YY TN PNM 22N

However »''1 maintains there in 2"2 that according to 21¥°%x '3 the words of a

n'"ow are effective in the weekdays (without depending on the ruling of 727 0»p% my»
nnn), why do we say here that »"3 follows X"1 and we give it 2 112N °» w1 because of mMx»
nnn a7 Pl -

19292 NPYYNN 73 SN NON
But rather we are compelled to assume that there are three differing opinions in
this matter.

SUMMARY

The o201 (and °"7) maintain we always say %7 20731 22101220 1"dw 717,
however T13°9% "1 of the &9°0 maintains that »">w n7mR is effective only on naw
(and according to n" the reverse is true); the opinion of “1¥%X "1 of the Xw™ is that
n"2w N7 1s never effective.

THINKING IT OVER

1. One of Moo proofs was from 9217 °12 SWw 9K, that if we assume that X" agrees
that P»p 127 naw3a, then perhaps the story 317 °12 %@ 1K took place on naw."”
However this proof can be refuted for perhaps the o121 ‘knew’ that the story
happened 91ma!'

2. Mmoo assumes that the X7 is MYYX " and the ¥9°0 is Y %X . Perhaps it is the
opposite?!"’

B x,m.
' See ‘Summary’.
15 See footnote # 6.
16 See (n"m1 and) 7"ax # 175.
17 See footnote # 1.
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